=el X 3t Jl=HE (CHol: &)
2A - 33 - SRA(ZH) - HRAIY - BES Oll &kt DIRESE HusSZ

sHAEN 11,592,571 11,189,476 403,095

= 1,300,444 1,315,444 15,000

Il 197,700 197,700 0

< 1,158,495 921,99 236,500

= 8,935,932 8,754,337 181,5%

HESEZTHLFN 2,930,980 2,888,980 42,000

= 1,081,750 1,096,750 15,000

Il 6,000 6,000 0

< 71,500 46,500 25,000

[ia 1,771,730 1,739,730 32,000

XNAE-s Jl=He 1,303,980 1,333,980 30,000

= 395,750 410,750 15,000

Il 6,000 6,000 0

= 10,500 10,500 0

= 891,730 906,730 15,000

IIEER 255 53 MY 30,000 60,000 230,000

= 15,000 30,000 /15,000

= 15,000 30,000 15,000

401 AlEHIL R 0HY] 0 30,000 230,000

= 0 15,000 15,000

[ia 0 15,000 /15,000

01 Al&H] 0 30,000 30,000

Ot 243Hl 7 ol 0 30,000 30,000

= 0 15,000 15,000

[ia 0 15,000 /15,000

AMYE ot X 1,627,000 1,555,000 72,000

= 686,000 686,000 0

< 61,000 36,000 25,000

[ia 880,000 833,000 47,000

HMsAE Z& CIX e AlY 32,000 0 32,000

[ 10,000 0 10,000

= 22,000 0 22,000

402 212t XH201H 32,000 0 32,000

= 10,000 0 10,000

= 22,000 0 22,000

02 QIRIXFEAIE E (01X THR) 32,000 0 32,000

OUIHsAE L& CIXQ! JHE AlY

32,000,000& 32,000 0 32,000

[ 10,000 0 10,000

[ia 22,000 0 22,000

XS 6t 8322 A= AlY 40,000 0 40,000

[ 15,000 0 15,000

[ia 25,000 0 25,000
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2A:
X ZH
S

=RED
NSe2 I EA
AR A X2

SA - BB CRI(E]) - HRAIY - BIES Ofl kot = Hnz2
402 CIZHRHE0|A 40,000 0 40,000
= 15,000 0 15,000
o 25,000 0 25,000
02 CIZEXI= AL B (0| M THS) 40,000 0 40,000
OHlM=gd oxtard 8329 25 AlY
40,000,000 40,000 0 40,000
= 15,000 0 15,000
i 25,000 0 25,000
=S5 SHRA 2,949,424 2,196,424 753,000
= 45,870 45,870 0
J| 17,000 17,000 0
= 594,983 383,483 211,500
i 2,291,571 1,750,071 541,500
NSE =S Mot 2,786,184 2,033, 184 753,000
J| 17,000 17,000 0
= 568,733 357,233 211,500
o 2,200,451 1,658,951 541,500
WEXRH 31,518 26,268 5,250
206 THZH| 15,250 10,000 5,250
01 M=l 15,250 10,000 5,250
Olt= ASAIEEE AN & HISHS
1,050,000& 53] 5,250 0 5,250
B==EXXA 55,750 61,000 25,250
402 QIZERHE0| A 55,750 61,000 25,250
01 CIZFXHE A B2 (KEHITHE) 55,750 61,000 25,250
OAtDt MEHdeta A28 XIF
6,750,000 6,750 12,000 25,250
NEE AFALY BES AR 90,000 120,000 A30,000
402 CIZHRHE0|N 90,000 120,000 A30,000
01 CIZEXH= A B2 (XERITHE) 90,000 120,000 A30,000
OLUZEE AEAN BESH X
180,000, 0002 *50% 90,000 120,000 A30,000
sA=MEe =X & 2,048,000 1,328,000 720,000
= 512,000 332,000 180,000
o 1,536,000 996,000 540,000
402 QIZERHE0| A 2,048,000 1,328,000 720,000
= 512,000 332,000 180,000
o 1,536,000 996,000 540,000
02 CIZEXI=AIH B (0| M THS) 2,048,000 1,328,000 720,000
Osxg2 Moll2sz X
2.,048,000,0002 2,048,000 1,328,000 720,000
= 512,000 332,000 180,000
i 1,536,000 996,000 540,000
S M= HIXIA 63,000 0 63,000
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2A: sHEDL
M EX SHAA
SHel NSE S Mo CEREERD
SA - FHH . O(32) - HRAY - BES Ofl o I3 o iImE=ST
= 31,500 0 31,500
o 31,500 0 31,500
302 OIF2 M2 A= 63,000 0 63,000
= 31,500 0 31,500
o 31,500 0 31,500
02 QRIS =R ES24Z 63,000 0 63,000
O=gMall =721 XI2(9.15~17 S<IldH)
63,000,000& 63,000 0 63,000
< 31,500 0 31,500
i 31,500 0 31,500
AEAIZS] ZHSA25} 3,110,734 3,502,734 392,000
J| 174,700 174,700 0
= 228,345 228,345 0
i 2,707,689 3,099,689 392,000
NEESASUA AFHXIA 3,110,734 3,502,734 A392,000
J| 174,700 174,700 0
< 228,345 228,345 0
i 2,707,689 3,099,689 A392,000
AAWZ=Z KFALS 612,150 627,950 15,800
402 QIZERHE0|A 612,150 627,950 15,800
01 CIZFRHE A B2 (KERITHE) 612,150 627,950 /15,800
OAldoteA XtSIHHED|I XA
52,800, 0002 x50% 26,400 35,200 8,800
OANEJ0=It 8| S8l K&
140, 0002 *500kw*50% 35,000 42,000 A7,000
MHASEAIS XA 2,031,664 2,407,864 A376,200
< 161,395 161,395 0
i 1,870,269 2,246,469 A376,200
402 QIZERHE0| A 1,893,450 2,269,650 A376,200
= 119,930 119,930 0
i 1,773,520 2,149,720 A376,200
02 QIZENEAMLE X (0IX ) 1,893,450 2,269,650 A376,200
OJWXES MatAld AX XA 1,758,600 2,134,800 A376,200
0ZJ] SHOIHIEAIE XIR
33,250, 0002 *407H A *50% 665,000 800,000 A135,000
0LD] SEZEAE XA
25,400,0002*307 A *50% 381,000 420,000 A39,000
QA R0 LHET WED| KIA
800,000 %371 A *50% 14,800 50,000 235,200
OAILRNICIRA SEHE2IHE XIF
233,000,000 233,000 400,000 A167,000
MHRES(sHEED 336,743 336,648 95
I=FSPNES 336,743 336,648 95
2Ar3etE32 336,743 336,648 95
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2AM:
X{XH -
o /e

cH):

sgasY
Hess(sgzgn)
SIS

2A - FH - GR(3) - MRAY - BYS Ofl Ak oA )l H o {[ImE=ST
802 BHEt=JIE 336,743 336,648 95
02 Al - ZHIEZ=3EHe2 250,311 250,216 95
Q20229 D223 AIEAIY &M (0| R
ILE) 2,118,310 2,119 2,024 95
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